Does them exist a basis of V for which the mx of T is diagonal? - or at less, triangiles? Diesmili n deil TV-V (B besir, ~) me A E M. (F) Is there a diagonal mr D~A? (f so, what is D? What is the new besis? $If A \sim D = \begin{pmatrix} c, & 0 \\ 0 & c_n \end{pmatrix}$ $I = \begin{pmatrix} c, & 0 \\ 0 & c_n \end{pmatrix}$ $I = \begin{pmatrix} c, & 0 \\ 0 & c_n \end{pmatrix}$ $I = \begin{pmatrix} c, & 0 \\ 0 & c_n \end{pmatrix}$ $T(v_1) = \varsigma_1 v_1.$ If we find lin ind Vactor Vi_ Va st T(V,)= CyV; for som Cg eF the D = (0,0) Inp's T wat [V., -Vh] $A \sim D$. The dat A = dat D = T Ci VKA= rk D= # of nn-o Cis.

$$\begin{pmatrix} H_{ere,} & V_{1} \Rightarrow \delta, & V_{1} \Rightarrow -3, \\ T(v_{1}) = \beta V_{1}, & T(v_{2}) = -3 V_{1} \\ \Rightarrow & V_{1} V_{2} & c_{1} & a_{1} & m_{1} H_{2} & of \\ & a_{nd_{1}} stw; & H_{1} & i_{1}a_{1} & i_{1} \mathbb{R}^{2} \\ \Rightarrow & firm e bosis, & An D_{prist} \\ \hline F_{1}a_{1} & V_{1}, V_{2}; \\ \hline J_{nm-} & O Sdas + (A - cT) \begin{pmatrix} x \\ y \end{bmatrix} = \begin{pmatrix} 0 \\ y \end{pmatrix}, F_{1}u_{1} \end{pmatrix} \begin{pmatrix} J_{1} \\ -1 \\ y \\ -y \end{pmatrix} \begin{pmatrix} 0 \\ -y \\ -y \end{pmatrix} \begin{pmatrix} 0 \\ -y$$

Then: work this bering ma of T is $D = \begin{pmatrix} c \\ \ddots \end{pmatrix}$ How do we know if V. Va are a basis? Iff VI. _ Vn are lin. in 2. Prop If Vin Vk are experiented for A & Ma (F) Group to district eigen volker S. -. CK, the vi. - Vk are lie ind. i If we have U., . V. cs above, the abasis: A is ding on clizible. Pf of Prop If not always down take a minimul Counterar angle (Smellest k) Gi, -- CKEF distant eigenvile, Vi, -- Vk eynvers for A Nxn So : VI, _ Vk are lin. dy.

(*)
$$Q_{V_{1}+\cdots} = Q_{k}V_{k} = 0$$
 $G_{i} \in F_{i}$
 S_{inter} this is mind, not ell 0 .
 $\underline{M} = G_{i} = Q_{i}$ ($a : cont = 0 = i + i + i$)
 $A = 0 = \int = T_{A} : f^{n} = 0$ F^{n}
 $A = 0 = \int = T_{A} : f^{n} = 0$ F^{n}
 $A = 0 = \int = T_{A} : f^{n} = 0$ F^{n}
 $A = 0 = \int = T_{A} : f^{n} = 0$ $G_{i} = 0$
 $Q_{i} = C_{i}V_{i} + \cdots = -i + Q_{k}C_{k}V_{k} = 0$
 $Q_{i} = C_{i}V_{i} + \cdots = -i + Q_{k}C_{k}V_{k} = 0$
 $Q_{i} = C_{i}V_{i} + \cdots = -i + Q_{k}C_{k}V_{k} = 0$
 $Q_{i} = C_{i}V_{i} + \cdots = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = C_{i} = -i + Q_{k}C_{k}^{kn}V_{k} = 0$
 $Q_{i} = -i + Q_{k}C_{k}^{k$

Si 1A A non,

$$\rightarrow P_{A}(A)$$
 has a distant radio C_{L-A}
the A is dispible. An $\begin{pmatrix} C_{L-A} \\ O \\ C_{A} \end{pmatrix}$
(det if $P_{A}(A)$ has a distant eigenvalues)
(i.e. A has a a distant eigenvalues)
 $\rightarrow J_{S}$ A dissible?
(i.e. \exists ? besis of eigenvalues)
More complication.
 $E_{X} I. A = \begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix}$
Chu poly $P_{A}(A) = det(xI - A)$
 $= det\begin{pmatrix} X-1 & 0 \\ 0 & X-2 \end{pmatrix} = (X-2)^{2}$
 $O_{A}I_{1}$ one rad (repeated)
 $i = i = 2V$ $A = 2I$
 $SHL besis e, e is a signature for A
 $T(v) = 2V$ $A = 2I$
 $SHL besis e, e is a besis
In fed, A is already diagonl.$$

$$E_{x} 2. A = \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix}$$

$$Chor p \cdot 1_{1} : P_{A}(x) = det \begin{pmatrix} x & 1 \\ -1 & x \end{pmatrix}$$

$$= x^{2} + 1.$$
a) Seq F = R.

$$x^{2} + 1. here he roots : R$$

$$N_{0} = ijnv(here, he roots : R$$

$$N_{0} = ijnv(here, he roots (arrow R))$$

$$(c_{ew} = root c + in hy 90?)$$
b) F = C.

$$x^{2} + 1 = (x + c)(x - c)$$

$$2 = dishert = roots. C = ijre.$$

$$S = dis s' bler, A - \begin{pmatrix} 2 & 0 \\ 0 & -c \end{pmatrix}$$

$$E_{x} 3. A = \begin{pmatrix} 1 & 1 \\ 0 & 1 \end{pmatrix}$$

$$P_{A}(x) = det \begin{pmatrix} x - (-1) \\ 0 & x - c \end{pmatrix} = (x - 1)^{2}$$

$$dishert = roots. C = i = (roots)$$

$$E_{x} 3. A = (x + (x - 1) \\ 0 & x - c \end{pmatrix} = (x - 1)^{2}$$

$$dishert = roots. C = i = (roots)$$

$$E_{x} 3. A = (x + (x - 1) \\ 0 & x - c \end{pmatrix} = (x - 1)^{2}$$

$$E_{x} 3. A = (x + (x - 1) \\ 0 & x - c \end{bmatrix} = (x - 1)^{2}$$

$$(A - I) \begin{pmatrix} x \\ y \end{vmatrix}.$$

$$A - I = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \quad \text{row reduce.}$$

$$Y = 0. \quad (x = c6)$$

$$Elynometeri \quad (1,0) \quad + m \cdot 1 + j + s.$$

$$Mo \quad h = ci y = V \text{ enders.}$$

$$Mo \quad h = ci y = V \text{ enders.}$$

$$Mot \quad d : c j + V \text{ enders.}$$

$$(1 \text{ eff} c)$$

$$T : V \rightarrow V \quad (1 \text{ is op} \quad (1 \text{ eff} c))$$

$$T : V \rightarrow V \quad (1 \text{ is op} \quad (1 \text{ eff} c))$$

$$T : V \rightarrow B \quad A \sim B$$

$$A \text{ eff} \quad B = C^{-1}AC$$

$$i \quad C \text{ chy of}$$

$$P_A(kl), \quad P_B(k), \quad b = sign n \text{ eff} n \text{ eff}$$

$$P_A(kl), \quad P_B(k), \quad b = sign n \text{ eff} n \text{ eff}$$

$$x \mathbf{I} - \mathbf{B} = x \mathbf{I} - \mathbf{C}^{-1} \mathbf{A} \mathbf{C}$$

$$= \mathbf{C}^{-1} (x \mathbf{I}) \mathbf{C} - \mathbf{C}^{-1} \mathbf{A} \mathbf{C}$$

$$= \mathbf{C}^{-1} (x \mathbf{I} - \mathbf{A}) \mathbf{C}$$

$$x \mathbf{I} - \mathbf{B} \sim x \mathbf{I} - \mathbf{A}$$

$$\mathbf{P}_{\mathbf{D}} (x) = d \mathbf{x} (x \mathbf{I} - \mathbf{A}) = \mathbf{P}_{\mathbf{A}} (x \mathbf{I} - \mathbf{A})$$

$$= d \mathbf{x} (x \mathbf{I} - \mathbf{A}) = \mathbf{P}_{\mathbf{A}} (x \mathbf{I} - \mathbf{A}) = \mathbf{P}_{\mathbf{A}} (x \mathbf{I} - \mathbf{A})$$

$$\mathbf{S}_{\mathbf{a}} : \mathbf{P}_{\mathbf{A}} (x \mathbf{I} = \mathbf{P}_{\mathbf{D}} (x) .$$

$$\mathbf{C}_{\mathbf{c}_{\mathbf{a}}} \text{ for } \mathbf{f}_{\mathbf{a}} = \mathbf{f}_{\mathbf{b}} (x) .$$

$$(c_{\mathbf{c}_{\mathbf{a}}} - \mathbf{f}_{\mathbf{a}} = \mathbf{P}_{\mathbf{D}} (x) .$$

$$(c_{\mathbf{c}_{\mathbf{a}}} - \mathbf{f}_{\mathbf{a}} = \mathbf{f}_{\mathbf{a}} - \mathbf{f}_{\mathbf{a}}) .$$

Son A's diss' ble.

$$A \sim D = \begin{pmatrix} c_{i} & 0 \\ 0 & c_{n} \end{pmatrix}$$

$$A \sim D = \begin{pmatrix} c_{i} & 0 \\ 0 & c_{n} \end{pmatrix}$$

$$A \sim D = \begin{pmatrix} c_{i} & 0 \\ 0 & c_{n} \end{pmatrix}$$

$$A \sim D \sim Present Same (in the T)$$

$$(word define base)$$

$$P_{A} (x = P_{D} (x) = det (x = D)$$

$$= det (O \sim Y, c_{n}) = \prod_{i=1}^{n} (x - c_{i})$$

$$T(cv.) = \lambda_{i}(cv.) \quad \text{Simlerh.}$$

$$C_{ill} \quad \text{With the arguments prove corresp to λ_{ii}

$$S_{ii} \quad A \stackrel{i}{=} \quad d_{igi} \text{'ble.} \quad A^{m} D = \begin{pmatrix} c_{i} & v \\ o & c_{n} \end{pmatrix}$$

$$V_{in} \quad v_{n}$$

$$P_{D}(x) = P_{A}(x) = TT(x - \lambda_{i})^{d_{i}}$$

$$T(x - c_{i}) \quad \text{Tr}(x - \lambda_{i})^{d_{i}}$$

$$T(x - c_{i}) \quad \text{Tr}(x - \lambda_{i}) \quad \text{Tr}(x - \lambda_{i})^{d_{i}}$$

$$S_{ii} \quad C_{in} \quad \text{order} \quad v_{i} = 1$$

$$C_{in} \quad \text{order} \quad V_{i} = V_{A} \quad \text{so that}$$

$$I^{m} \quad d_{i} \quad \text{of the ore eigenerators for } \lambda_{i}$$

$$V_{i} = V_{A}, \quad \text{are } \quad c(1 \text{ ergenstator } f_{i} - \lambda_{i})$$

$$V_{i} = V_{A}, \quad \text{are } \quad c(1 \text{ ergenstator } f_{i} - \lambda_{i})$$

$$M_{i} \quad C_{in} \quad \text{this be } f_{i} = 1$$

$$M_{i} \quad M_{i} \quad M_{i} \quad M_{i} \quad M_{i}$$$$

To see this:
Say
$$\omega \in W_{1} \subseteq F^{n}$$

 $\omega \in S$ $\omega \in spece (V_{1, -1}, V_{d_{1}})$
 $V_{1, \dots -1}V_{d_{1}} = V_{n}$; besis of F^{n}
 $W_{1} \gg = Q_{1}V_{1} + \dots + Q_{d_{1}}V_{d_{1}} + \dots - a_{n}V_{n}$
 $V_{1} \gg = Q_{1}V_{1} + \dots + Q_{d_{n}}V_{d_{n}} + \dots - a_{n}V_{n}$
 $W_{1} \gg W = Q_{1}V_{1} + \dots + Q_{d_{n}}V_{d_{n}} + \dots - a_{n}V_{n}$
 $\omega \equiv \omega_{1} + \omega_{2} + \dots + \omega_{m}$ $W_{1} \equiv W_{1}$
 $\omega \equiv \omega_{1} + \omega_{2} + \dots + \omega_{m}$ $W_{1} \equiv W_{1}$
 $0 \equiv (\omega_{1} - \omega) + v_{1} + \dots + w_{m}$ $W_{1} \equiv W_{1}$
 $(U_{1} + \omega_{1}) + v_{1} + \dots + v_{m}$ $W_{n} = U_{1}$
 $S_{m} = 0$, $\cdots + V_{m}$; $U_{n} = V_{m}$; $U_{1} = W_{n}$
 $W_{1} \equiv W$
 $W_{2} \equiv W_{1}$
 $W_{2} \equiv W_{2}$
 $W_{2} \equiv W_{2}$
 $W_{2} \equiv W_{2}$
 $W_{2} \equiv W_{2}$

$$\frac{Clain The sold V_{1-} - V_n is lin ind}{(4 \therefore a b cours of V)}$$

$$Say 0 = Z G_1 V_2$$

$$= (G_1 V_1 - - + G_2 V_2,) + (--) + (--) - (--).$$

$$M_1 \qquad box \qquad - hom \\N_1 \qquad - hom \\N_1 \qquad box \qquad - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 = - a \partial_{X_1} = 0.$$

$$N_1 - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 - hom \\N_1 = - a \partial_{X_1} = 0.$$

$$N_1 = - a \partial_{X_1} = 0.$$

Ex. L.
$$A = \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix}$$
 $P_{A}(x) = x + 1$
 $O_{VU} R$, not dissible. Not eprid
 $V_{U} R$, not dissible. $f_{U} = f_{U}$
 $V_{U} R$, not dissible. $f_{U} = f_{U}$
 $V_{U} = f_{U} = (0)$, not dissible. $(U = f_{U})$
 $V_{U} = Sp_{U}(1, v) = x - exis.$
 $d_{U} = Sp_{U}(1, v) = x - exis.$
 $d_{U} = Sp_{U}(1, v) = x - exis.$
 $d_{U} = M_{U} = 1. \neq 2$
 $(i) f_{U} = K - exis.$
 $d_{U} = M_{U} = 1. \neq 2$
 $(i) f_{U} = K - exis.$
 $d_{U} = M_{U} = 1. \neq 2$
 $(i) f_{U} = K - exis.$
 $d_{U} = M_{U} = (1, v) = x - exis.$
 $d_{U} = M_{U} = (1, v) = x - exis.$
 $d_{U} = M_{U} = (1, v) = x - exis.$
 $d_{U} = M_{U} = (1, v) = x - exis.$
 $d_{U} = M_{U} = (1, v) = x - exis.$
 $f_{U} = M_{U} = (1, v) = x - exis.$
 $f_{U} = K - exis.$
 $f_{U} =$

Pf. = : $A \sim \bigcup, upper \Delta r m \times G_{1, --} C_{n} : Right with rep$ $\bigcup = \begin{pmatrix} C_{1} & X \\ O & C_{n} \end{pmatrix} \quad \begin{array}{c} C_{0} / last & like oneri \\ \partial_{1, --} & \partial_{m} \\ d_{1, --} & d_{m} \end{array}$ $P_{A}(x) = P_{U}(x) = det \begin{pmatrix} x-c, & x \\ 0 & x-c_{n} \end{pmatrix}$ $= \widehat{T}(x-c_{2}) = \overline{T}(x-\lambda_{2})^{d_{2}}$ Êd:=n E: Use induction on M. n=1: Evry 1x1 mx is Sible. Induction step: assume venit holds Grn-1; wTS: holds for n. $A \in M_{n}(F)$ Suppose PA (x) = prod. of lin. feetry WTS: A is Abh /F. Take a linear fate, sy X-C,

C₁ is an aighter for some
Non-O aighter VI.
$$T(u)=c_1V_1$$

C_a axtra to a besis
 $V_1, V_1, --iV_n$ of Fⁿ.
A $\leftarrow T : F^n \rightarrow F^n$
In this new besis has for T is
 $A' = \begin{pmatrix} c_1 & \times \\ i & B \end{pmatrix}$ B is
 $V_1V_1' - V_1'$ $h-1 \times h-1$
($W = t$ to check: $P_B(x)$ is
 $Product of linear factors.$
 $A \sim A'$
 $P_A(x) = P_A, (x) = det (xT - A')$
 $Rxpect clay 1^{FT} column$
 $P_A(x) = (x - c_1)P_B(x).$

$$P_{A/N} = pr.d. of his or bedrs
(k-c.) (k-c.) - - (k-c.)
P_{B}(N) = pr.d.of (k tector)
B is an n-1 × n-1 nr, the
Ind hy: B is Able.
B = S Spe (Va, -Va')
/inter ma vs of dim n-1.
 $\exists V_{2,-1}V_{n} \circ f This V.S.$
 $st mr of S is A'r.$
 $B' = \begin{pmatrix} c. + \\ 0 & c. \end{pmatrix}$
 $N_{3-} + the V.V. - Va$
 $B = vis of F^{n}$
 $M_{X} \circ f T in this beries
 $\begin{pmatrix} c. + \\ v. - - \\ v. \\ v. - \\ v. \end{pmatrix} : A'r.$$$$

$$Ce_{1}e_{1} - Ha.1fm Thm$$

$$H \neq K, S (.3, Th \neq, pp. 144 - 196.$$

$$A d.fdermet Pf:$$

$$P_{A} (x) = ff (x - c)$$

$$P_{A} (x) = ff (x - c)$$

$$P_{A} (x) = ff (x - c)$$

$$P_{A} (A) = ff P_{i} (A) \qquad (PS P \# 5 <)$$

$$(A) = ff P_{i} (A) \qquad (PS P \# 5 <)$$

$$(A) = ff P_{i} (A) \qquad (PS P \# 5 <)$$

$$(A) = (A) = (A) \qquad (PS P \# 5 <)$$

$$(A) = (A) = (A) \qquad (PS P \# 5 <)$$

$$(A) = (A) = (A) \qquad (A) = (A) \qquad (A) = (A) = (A)$$

$$(A) = (A) = (A) \qquad (A) = (A) = (A) = (A)$$

$$(A) = (A) = (A) = (A) = (A) = (A)$$

$$(A) = (A) = (A) = (A) = (A) = (A)$$

$$(A) = (A) = (A) = (A) = (A)$$

$$(A) = (A) = (A) = (A) = (A)$$

$$(A) = (A) = (A) = (A) = (A)$$

$$(A) = (A) = (A) = (A) = (A)$$

$$(A) = (A) = (A) = (A) = (A)$$

$$(A) = (A) = (A) = (A) = (A)$$

$$(A) = (A) = (A) = (A) = (A)$$

$$(A) = (A)$$

$$(A) = (A) = (A)$$

$$(A) = (A)$$

$$(A)$$

$$P_{A}(A) = P_{U}(A) \sim P_{U}(U) (PSG)$$

$$A \sim U P$$

$$B_{Y} I'F_{CRA} = D$$

$$P_{F}(A) = P_{U}(A) \sim P_{U}(U) (PSG)$$

$$P_{T}(A) = P_{T}(A) = D$$

$$P_{T}(A) = C = D$$

$$P_{T}(A) = C = D$$

$$P_{T}(A) = C = D$$

$$P_{T}(A) = C$$

$$P_{T}($$

thisky
$$\leq$$
 this days, \leq days as $a =$
iff physical \geq
Cuts degrees are \equiv (+ n.t. \leq)
Let $d \equiv da_{3} \int A_{i} \epsilon$ (x).
Wuts A such this $\int e^{-i} f_{i} \circ f_{i} dy d$ out F .
 $\int A_{i} \epsilon$ (x) $\equiv a_{i} + q_{i} x_{i} \epsilon_{i} x_{i}^{*} - \cdots + q_{k} \chi^{d} \epsilon E f M$
 $O = \int A_{i} \epsilon (A) = a_{i} + q_{i} x_{i} \epsilon_{i} x_{i}^{*} - \cdots + q_{k} \chi^{d} \epsilon E f M$
 $O = \int A_{i} \epsilon (A) = a_{i} + q_{i} A + \cdots - + q_{k} A^{d}$
So $I_{i} A_{i} A_{i} - A^{d} \epsilon M_{n} (F) \approx F^{n}$
 $a_{i} \quad f_{i} A_{i} - A^{d} \epsilon M_{n} (F) \approx F^{n}$
 $a_{i} \quad f_{i} A_{i} - A^{d} \epsilon M_{n} (F) \approx F^{n}$
 $A_{i} \quad f_{i} = E^{n}$.
 $D_{i} \quad f_{i} = E^{n}$.
 $D_{j} \quad PS = 7 + 1 \quad (f_{i} - R c C, b_{i} A)$
 $\int A_{i} - A^{d} \quad f_{i} d_{i} d_{i} \in M_{n} (F) = F^{n}$.
 $So = \frac{1}{2} b_{i}, -b_{i} \in F, \text{ and } e(f) = F^{n}$.
 $So = \frac{1}{2} b_{i}, -b_{i} \in F, \text{ and } e(f) =$
 $A \quad c = h_{i} h_{i} \quad f_{i}(x) = \quad \frac{1}{2} b_{i} x^{i}$.
 $i \quad m_{i} = h_{i} \quad f_{i}(x) = \quad \frac{1}{2} b_{i} x^{i}$.

$$C-H = p_{f}(x) | f_{A}(x)$$
So every root of pable
is a " " Path)
is a cymedile of A.

$$Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$Q: Coversdy,$$

$$F = Ts every eigenvalue of A.
$$P = Ts every eigenvalue of A.$$

$$P = Ts every eigenvalue of A.
$$P = Ts every eigenvalue of A.$$

$$P = Ts every eigenvalue of A.$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$

$$E_{XO.} = A = \begin{pmatrix} f & 0 \\ 0 & 1 \end{pmatrix}$$

$$E_{ijmuches} : I, L$$

$$P_{A}(x) = (X-1)(X-2) = P_{A}(x).$$

$$\overline{U_{A}} = (X-1)(X-2) = P_{A}(x).$$

$$E_{X}(x) = (X-1)(X-2) = P_{A}(x) = (X-2)$$

$$P_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$E_{X}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$E_{X}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$E_{X}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$E_{X}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$E_{X}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$E_{X}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$E_{X}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$E_{X}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$E_{X}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$F_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$F_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$F_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$F_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$F_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$F_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$F_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$F_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$F_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$F_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x).$$

$$F_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$T_{A}(x) = (X-1), \quad fic \quad A-2I = O.$$

$$\frac{W}{V} = \frac{T}{V} \frac{V}{V} \frac{$$

v e V _____ 111 WeV/W T V/L WeV T:V-NV River underT. F: V/w - 7 V/w lf fixi e F[r] and f(T) = 0. Yh: f(F)=0.65 0+W _0 Reconi $f(\overline{T})(v+w) = f(\overline{T}(v) + W)$ = O + W = WU- 2/4 i V/W $T_{a}k_{e} f = P_{T}(x)$, set $P_{T}(T) = 0$. : P7 (x) PT (x)

Use this to prove the for the theorem is
of the theorem is
If
$$p_T(x) = p_{rel} of distinct
Incu feelows
the T is disjole. (on V,
A dive our
 $p_T(x) = (x - c_1) - - - (x - c_k)$
 $c_1 - c_k$ distinct
 $distant of T.$
 $c_i = W_i$, liquing of $T.$
 $c_i = W_i$, liquing of $T.$
 $U = Spec il (W_i = W_i = - - W_k)$
 $= - - - ell eigeneders$
 $W = Spec il (W_i = W_i = - - W_k)$
 $= - - - ell eigeneders$
 $W = inverset under T (PSII, # 35)$
 $i = got T = V/W \longrightarrow V/W$
If we show $W = V$ then
 V is Species by its lighted of
 $S = Bberric Gr V consister of$
 $i = T is distible. So - den.$$$

To prove W=Vy assume not. If W +V, W =V, the V/w = 0 〒: V/w ~V/w Min pely Pr (x) for T $P_{\bar{\tau}}(x) | P_{\tau}(x), Sam routs.$? ? prod. . & distant lis factors. u er " " " Some of the X-C's. After reaching cis, $WMA (X-c,) p_{f}(x).$. C, is an eigenvelve of T. Take a non O eigniventin J=V+WEV/W Ve/ for T, with eignoche C .. $v \neq 0$ $v + W \neq 0 + W = W$ $\therefore \vee \notin W$

$$\overline{T} (\overline{v}) = C_{1}\overline{v}, \quad \overline{v} \neq 0 \in V/W$$

$$If c' \neq c, \quad \forall ha \quad \overline{T}(\overline{v}) \neq c'\overline{v}$$

$$C_{1} = -C_{k} \quad are \ district. \quad C_{1} = -C_{k} \neq C_{1}.$$

$$(\overline{T} - C_{1}) \quad \overline{v} = \overline{T} \quad \overline{v} - C_{1}\overline{v} \neq 0$$

$$C_{1}\overline{v}$$

$$(C_{1} - C_{2}) \quad \overline{v} \neq 0$$

$$T \quad C_{1}\overline{v}$$

$$(C_{1} - C_{2}) \quad \overline{v} \neq 0$$

$$T \quad C_{1}\overline{v}$$

$$Mon \quad 0 \quad m. H = 7\overline{v}.$$

$$Non \quad 0 \quad m. H = 7\overline{v}.$$

$$Non \quad 0 \quad m. H = 7\overline{v}.$$

$$Non \quad 0 \quad m. H = 7\overline{v}.$$

$$Represt ; \quad u_{3}\overline{v}_{1} \quad \overline{T} - C_{3}\overline{T}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{T}:$$

$$Gat$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{T}:$$

$$Gat$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{T}:$$

$$Gat$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{T}:$$

$$Gat$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{T}:$$

$$Gat$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{4}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{3}\overline{v}, -\overline{\gamma} \quad \overline{T} - C_{5}\overline{v}:$$

$$(\overline{T} - C_{1}) - \cdots \quad (\overline{T} - C_{2}) = \overline{v} \quad \overline{T} \quad \overline{T$$

$$a = \frac{1}{T} (c, -c)$$

$$a\overline{v} = \frac{1}{T} (T - c; I) \vee + W \neq 0 eV/w$$

$$\int_{i=1}^{t} (T - c; I) \vee \notin W.$$

$$\int_{i=1}^{t} (T - c; I) \vee \notin W.$$

$$\int_{i=1}^{t} (c_{i} + i) = i \text{ for } a_{i} = e_{ij} \text{ subschurgent} = fT$$

$$\int_{i=1}^{t} (T - c; I) (v)$$

$$\int_{i=1}^{t} (T - c; I) (v)$$

$$= (T - c, I) \frac{1}{T} (T - c; I) \vee i$$

$$= T (T - c; I) \vee i = a_{i} = e_{ij} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} = e_{ij} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} = e_{ij} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} = e_{ij} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} = e_{ij} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} = e_{i} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} \text{ subschurgent}$$

$$\int_{i=1}^{t} (T - c; I) \vee i = e_{i} \text{ subschurgent}$$

In gail! No. Buts The (Th, 14.1K, p201); IF Tis (or ASS) Commite with Red other $(\forall : i \quad T:T_2 = T_1 T_i)$ then yes. The of is related to the of that lim to is Able or minply 15 c prod of lim. frators. Cor (Cor + Th 7 ebure) 1 If F is als. clow (m. F=C) If TI: V->V comme, an A: The: JC, insertily, st CA: C is wyp. D. HE. Alson anolog of result for diagility: flus / F (Th 8, Hok, p207 If Ti on a fairly of diagble community lin to: V-NV the Flour B making all Tis dies.

Simaltennes diasin. Pf user Simler illers, to preve them. Car phoen in terms of misAi instal of lin tris Ti.